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DEFINITION The volume of a solid of integrable cross-sectional area A(x)
from x = a tox = b is the integral of A from a to b,
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Volume by Disks for Rotation About the x-axis
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Volume by Washers for Rotation About the x-axis
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Exmmlob.s :

X
l) (EKRMPLE 4) The region between the curve y = Vx,0 = x = 4, and the x-axis is

revolved about the x-axis to generate a solid. Find its volume.
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2) (ExAMPLE 5) The circle
2 4 p2 = 2

is rotated about the x-axis to generate a sphere. Find its volume.
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9( EXAMPLE _6) Find the volume of the solid generated by revolving the region bounded

by y = \/x and the lines vy = 1,x = 4 about the line y = 1,
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LI) (EXAMPLE 9) The region bounded by the curve y = x> + 1 and the line y = —x + 3
is revolved about the y-axis to generate a solid. Find the volume of the solid.
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(EKAMPLE 10) The region bounded by the parabola v = x* and the line y =
first quadrant 1s revolved about the y-axis to generate a solid. Find the volume of the
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solid.
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